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SIAAZ 20214
Ol &b Xb== 0 F=F 1 3
SIAFE  SEMEAHSIIS(2EANE)

OIPNI=E-DNE-—F4 CERED
= & Al | Xl = Al |
& = o= o J| & oH s & = IR JIEH S
= Al 43,367,278 43,367,278 0|& A 43,367,278 43,367,278 0
Fal 2 = 293,012 293,012 0|Hl & X & A HI 0 0 0
=] ES = 0 0 0|8 A& At HI 0 0 0
Xt 2 = 0 0 0| & 2 4 i 0 0 0
Foln"a’s’ 0 0 0[71 = A 0 0 0
HE=d3al = 0 0 ool & =2 0 0 0
o X = 3 = 42,517,342 42,517,342 ool Xl = 5,367,278 43,367,278 | ~A38,000,000
o = 3= 0 0 Ol 0 0 0
o X = ¢ 556,924 556,924 Oloi+=3aazas 0 0 0
JE o= Y 0 0 0121 & X = 38,000,000 0 38,000,000
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SIHAS @ 20214
Ol &bt @ F=F 1 3
JHTRZE 0 SEMHAHGIS(HHSIAH)
® XN&H & (oo &)
AR .22 . HM .09 - MSAY - BES & [J® NE%| Hns2
J1 = 0fl &F Bt 43,367,278 | 43,367,278 0
ME - 28 43,367,278 | 43,367,278 0
S8 S (D18 0l AT 43,367,278 | 43,367,278 0
PHNS(STUEAHE IS (AHEBAHEF)) 5.367,278| 43,367,278 | 38,000,000
2K E 5,367,278 | 43,367,278 | 38,000,000
602 0fl x| 2 5.367.278| 43,367,278 | ~38,000,000
01 YL X2 38,000,000 5,367,278| 43,367,278 | ~38,000,000
O 20219 O X2
A 5,367,278,0002 - JI & 43,367,278,0008 =  A38,000,000
WEHHKS(SSHEARSIIS(AZFHE)) 38,000,000 0| 38,000,000
WeHAKE 38,000,000 0| 38,000,000
701 JIELBIHSHER 38,000,000 0| 38,000,000
01 JIEtsIHEZE2 38,000,000 | 38,000,000 0| 38,000,000
O Uuts M3 38,000,000
o UM I(DZLIY 222 2ASHHXA
= 38,000,000,0002 * 14! 38,000,000
X s g A 43,367,278 | 43,367,278 0
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SIAHHE
Ofl &b XF == 13l
AHARZ St A I 2 (HESAHE e AR
x4 o
FSReIp=! X2 ol =A== A Ol

20154 DX 0 0 0 0
201648 & 0 0 0 0
20179 & 0 0 0 0
201848 & 0 0 0 0
201949 & 0 0 0 0
20204 & 0 0 0 0
20219 &= 849,936 293,012 0 556,924

Al 849,936 293,012 0 556,924
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HO® 2 o e | o aae | EHNE
At Bl Hl (%ol 23aE | 23us

2015¥ kX 0 0 0 0 0 0 0 0
201649 = 0 0 0 0 0 0 0 0
20174 & 0 0 0 0 0 0 0 0
201849 = 0 0 0 0 0 0 0 0
20198 = 0 0 0 0 0 0 0 0
20204 = 0 0 0 0 0 0 0 0
20213 & 38,000,000 0 0 0 0 0| 38,000,000 | 37,150,064
Al 38,000,000 0 0 0 0 0| 38,000,000 | ~37,150,064
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SIHAE 20214

Ol &R 0 =E 1 3
(2 &

=
SIATE  SEMIAHSIIZ(HESAHEY)

Ol X 2 0 £t oH
22 |dx(eHH . . .
2019 ELHIYY | 2020HCLHYU@ | 2021 EL I HO Z24(0-0)
A 0 42,517,342 5,367,278 A37,150,064
Ol Xl 2 2 0 42,517,342 5,367,278 AN 37,150,064
0 42,517,342 5,367,278 A 37,150,064




